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COLLEGE ALGEBRA QUIZ

Given f(x) = /x — 4 and g(x) = 2% — 1, evaluate (f — ¢)(8) and (fg)(4).
Solution: (f — g)(8) = —61

(fg9)(4) =0

Given f(z) = % and g(x) = 7 — 2z, state the domains of f, g, f+ g, f — g, fg, and
f

L.
Solution:

Domain of f is (—o0,0) U (0,00)

Domain of g is (—o0, 00)

Domain of f+g¢, f — g, and fgis (—o0,0) U (0, 00)
Domain of % (—00,0) U (0, 1) U (£, 00)

Gfiven f(z) =222+ 3z and g(z) = 3z — 1, find (f + g)(x), (f — 9)(x), (fg)(z), and
() (@)

Solution:

(f +9)(x) = 22% + 62 — 1

(fg)(z) = 63;3 + 722 — 3z

GESE =

The total revenue of a shoe store is given by the function, R(x) = 210z — 0.5z>
and the total cost of doing business is given by the function, C(x) = 16z + 5, find
P(z), the total profit function.

Solution:

P(z) = —.52% + 1942 — 5

For, f(z) = %, find and simplify the difference quotient.
Solution:

-3
x(x+h)




